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NEW QUESTION 1
Which one of the following code examples uses valid Java syntax?

A‘
public class Boat {

public static wvoid main (String [] args)
System.out.println (“I float."):
}

ey

B.
public class Cake {
public static wvoid main (Straing [] ) {
System.out.println (“*Chocolate”)
}

LT

.
public class Dog {
public void main (String [] args) {
System.ocut.println (“Squirrel.”™)
}

e

D.
public class Bank {
public static void main (String () args) {
System.out.println (“Earn interest.”):;
}

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 2
Given the content of three files:
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A.java:

public class A {
public void af() {}
int a;

B.java:

public class B |
private int doStuff () {
private int x = 100;
return x++;

C.java:

import java.io.*;
package pl;
class A {
public volid main(String fileName) throws IOException { }
}

Which statement is true?

A. Only the A.Java file compiles successfully.
B. Only the B.java file compiles successfully.
C. Only the C.java file compiles successfully.
D. The A.Java and B.java files compile successfully.
E. The B.java and C.java files compile successfully.
F. The A.Java and C.java files compile successfully.

Answer: A

NEW QUESTION 3
Given the following main method:

public static void main(Stringl] args) |

int num = 5;
do

System.out.print (num-—- +" ");
v owhile (num == 0);

'
What is the result?

A.543210
B.54321
C.421

D.5

E. Nothing is printed

Answer: D

NEW QUESTION 4
Given the code fragments:
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Person.java:

public class Person {
String name;
int age;

public Person(String n, int a) |
name = n;
age = a;

}

public String getName () |
return name;

}

public int getAge () {
return age;

}
}

Test.java:

public static void checkAge (List<Person> list, Predicate<Person> predicate) |
for (Person p : list) {
if (predicate.test(p)) f{
System.out.println(p.name + " ");
}

}

public static void main(String[] args) |
List<Person> ilist = Arrays.aslList (new Person("Hank", 45),

new Perzon("Charlie", 40),

new Person("Smith", 38));
/fline nl
}

Which code fragment, when inserted at line n1, enables the code to print Hank?
A

checkage (ilList, ( ) -> p. get Age ( ) > 40);

checkfAge (1List, Person p -> p.getge( ) > 40);

checkAge (ilist, p -> p.getRhRge ( ) > 40);

checkage (iList, (Person p) -> { p.getARge() > 40; 1}):

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 5
Given the code fragment:

LocalDate Time dt= LocalDateTime.of (2014, 7, 31, 1, 1):
dt.plusDays (30):

dt. plusMonths (1):

System.out.print (dt format (DateTimeFormatter. ISO_DATE) );

What is the result?
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A. An exception is thrown at runtim
B. 07-31-2014
C. 2014-07-31
D. 2014-09-30

Answer: A

NEW QUESTION 6
Given the code fragment:

public static vold main(Stringl[] args) |
Short =1 = 2Z00;
Integer g2 = 400;
Long =3 = (long) =1 + =22; Ffline nl
String =4 = (String) (=23 * =2); filine nZ
System.out.println("Sum iz " + =4);

}

What is the result?

A. Sum is 600

B. Compilation fails at line nl.

C. Compilation fails at line n2.

D. A ClassCastException is thrown at line n1.
E. A ClassCastException is thrown at line n2.

Answer: C

NEW QUESTION 7

Which two are benefits of polymorphism? (Choose two.)
A. Faster code at runtime

B. More efficient code at runtime

C. More dynamic code at runtime

D. More flexible and reusable code

E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 8

Given:
public class Test {
public static void main(String[] args) {
Test ts = new Test():
System.out.print (1sAvailable + " ");
1sAvailable= ts.doStuff();
System.out.println(isAvailable);
public static boolean doStuff() {
return !i1sAvailable;
}
static boolean isAvailable = true;
}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: C
Explanation:

x ®

Console 15
true false

Completed with exit code: 0

NEW QUESTION 9
Given the code fragment:
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public static veoid main(String[] args)

ArraylList<Integer> points = new ArrayList<>():
points.add(l)
points.add(2)
points.add(3)
points.add(4)

- e

e

-
r

points.add(null):
points.remove(l):

points.remove(null) ;
System.out.println (points);

3
£

What is the result?

] 2! 4]
, 2,4, null]
, 3,4, null]

A.
B.[1
C.[1
D. [1
E.[1,3,4]
F.

Answer: B

Compilation fails.

NEW QUESTION 10

This grid shows the state of a 2D array:

A NullPointerException is thrown at runtim

0 o
0

X
The grid is created with this code:
char[][] grid = new char[3][3];
grid[1][1] = ‘X';
grid[0] [0] = *0";
grid[2] [0] = '¥';
grid[0][1] = *07;
grid[2][2] = '¥X';
grid[1][2] = *0;

J/line nl

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = *X;
B. grid[3][2] = ‘X’;
C. grid[3][1] = ‘X;
D. grid[2][3] = X’;

Answer: D

NEW QUESTION 10

Given:

class Patient |{

String name;

public Patient

this.name

And the code fragment:
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0

. public class Test {

g. public static void main (String [] args) |
10 List ps = new Arraylist ():

11. Patient p2 = new Patient (“Mike):

i 7.8 ps.add(p2) ;

13.

14, // insert code here

15.

16. if (£ >= 0) {

1V System.out.print (“Mike Found”):
18. }

19. }

20. }

Which code fragment, when inserted at line 14, enables the code to print Mike Found?
A

int £ = ps.index0f (pZ);

int £ ps.index0f (Patient (“Mike”) );

int £ = pe.index0f (new Patient “Mike") );

Patient p = new Patient ("Mike");
int £ = ps.index0f (p)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 13
Given:

public class MyClass |
public static void main(String[] args) {
String s = "Java SE 8 1";
int len = s.trim().length();
System.out.print (len) ;

What is the result?
A. Compilation fails.
B. 11

C.8

D.9

E. 10

Answer: B

NEW QUESTION 14
Given the code fragment:
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public class Employves |
String name;
boolean contract:
doubkle =zalary;
Emploves () |
/4 line nl

}
piblic: Strihg-toSteing (¥

return name + ":" + contract + ":" 4+ =alary:

}

public static vold main(Stringl[] args) |
Emploves & = new Emploves () ;
/4 line nZ
System.out.print (e) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)

O &) Replace 1ine nZ with:
e, name = "Joe™;
e.contract = tLrue;
e.galary = 100;

O B) Replace 1ine nZ with:
thisg.name = "Joe";
this.contract = true;
this.zalary = 100;

U C) Replace 1ine nl with:
thizg.name = new String("Joe");
thiz.contract = new Eoolean(true) ;
this.sgalary = new Double (100) ;

O D) Replace 1ine nl with;
name = "Joe™;
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with:
thi=z ("Joe", trues, 1007 ;:

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC

NEW QUESTION 15
Given:
interface Readable |
public void readBook ()
public void zetBookMark () :
h

abztract clasz Book implements Readable | f4 line nl
public veoid readBook () { 1}
£/ line nZ

h

clas=s EBook extends Book | if ine n3
public veoid readBook () { 1}
A/ line nd

}

And given the code fragment: Book bookl = new EBook(); book1.readBook();
Which option enables the code to compile?
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= &) Replace the code fragment at line nl with;
class Book implements Readable |

© B) At 1line nZ insert:
public abstract wvoid setBookMark();

) Replace the code fragment at line n3 with;
abstract class EBook extends Book |

~ D) At 1ine n4 insert:
public wvoid setBookMark () { }

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 20
Given:

class Product
double price;

public class Test |
public void updatePrice (Product product, double price)
price = price * 2;
product.price = product.price + price;
}

public static woid main(8tring([] args) |

Product prt = new Product ();
prt.price = 200;
double newPrice = 100;

Test £t = new Test ();
t.updatePrice (prt, newPrice) ;
System.out.println(prt.price + " : " + newPrice);

}
What is the result?
A. 200.0: 100.0
B. 400.0 : 200.0
C. 400.0: 100.0
D. Compilation fails.
Answer: C

NEW QUESTION 21
Given:
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class &
public wvoid test () {
System.out.println(™aA ")

}

class B extends A
public wvoid test({) {
System.out.println("B "};

}

public class C extends A {
public woid test () {
System.out.println{"C ");
}

public static void main(8tring[] args) |{
2 bl = new A();
A b2 = new C{);
A b3 = (B} b2; //1line nl
bl = (a) b2: //1line nZ2
bl.test ()
b3.test (};

}

What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 22
Given:

interface I |
public void displayI():
}
abstract class C2 i1mplements I {
public void displayC2() {
System.out.print ("C2");

}

class Cl extends CZ2 {

public veoid displayI() {
System.out.praint ("Cl"});

}

And the code fragment:
C2 objl = new C1l():
I obj2 = new Cl1l();

CZ2 5 =

(C2) obj2;
I t = obj

"
r

'_,.I.

t.displayI():
s.displayC2 () ;
What is the result?
A.Cl1C2
B.Cl1C1
C. Compilation fails.
D. C2C2

Answer: A

Explanation:
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= lund
[ sre

4
Console 1 Console 2
ClC2
Completed with exit code: 0

NEW QUESTION 25
Given the code fragment:
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L

interface I {
public void displayI();
}
abstract class C2 implements I {
public void displayC2() {
System.out.print("C2");
}
}
class Cl extends C2 {
public void displayI() {
System.out.print("Cl");
}

}

public class App (

public static void main(String[] args) {

C2 objl = new Cl();
I obj2 = new Cl();

C2 s = (C2) obj2;
It = objl;

t.displayl();
s.displayC2();
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abstract clas=s Planet |
protected void revolwe () filine nl

}

ab=ztract wvold rotate () ; Jiline nZ

clazss Earth extends Planet |
vold revolwve () Jiline n3

}

protected void rotate () | Jiline nd
i
I

Which two modifications, made independently, enable the code to compile? (Choose two.)

A. Make the method at line n1 public.
B. Make the method at line n2 public.
C. Make the method at line n3 public.
D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD

NEW QUESTION 28
Given:

class Caller |
private wvoid init ()
System.out.println(“Initialized”) ;

private void start ()

init () :

System.out.println (“Started”) ;
}

public class TestCall {
public static void main(Stringl] args) {
Caller o = new Caller{):
c.start(); // line nl
c.init () ; // line nZ2

What is the result?

A. Compilation fails at line nl.
B. InitializedStartedInitialized
C. InitializedStarted

D. Compilation fails at line n2.

Answer: D

NEW QUESTION 31

Given the code fragment:

7. BStringBuilder sbl = new StringBuilder ("Duke");
d. String =trl = skl.toltring();

9. // insert code here

1n0. System.out.print (strl == strz) ;

Which code fragment, when inserted at line 9, enables the code to print true?
A. String str2 = strl;

B. String str2 = new String(strl);

C. String str2 = sbh1. toString();

D. String str2 = "Duke";

Answer: A

NEW QUESTION 35
Given:
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class Test {
int al:;

public static void doProduct (int a) {

a = a * a;

public static void doString(String s) {
s.concat(" " + s);

}

public static void main(String([] args) {
Test item = new Test ()
item.al = 11;
String sb = "Hello";

Integer 1 = 10;

doProduct (i) ;

doString(sb) ;

doProduct (1tem.al) ;

System.out.println(i + " " + sb + " " + item.al):

}

What is the result?

A. 10 Hello Hello 11
B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 40
Given:

class Test {
public static void main (String [] args) {
int numbers [ ]:

numbers = new int [2]:
numbers [0] = 10;
numbers [1] = 20;
numbers = new int [4];
numbers [2] = 30;
numbers [3] = 40;

for (int x : numbers) {
System.out.print (“ ” + x) :

What is the result?

A. 10203040

B. 003040

C. Compilation fails.

D. An exception is thrown at runtime.
Answer: C

NEW QUESTION 43

What is the name of the Java concept that uses access modifiers to protect variables and hide them within a class?

A. Encapsulation
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B. Inheritance

C. Abstraction

D. Instantiation
E. Polymorphism

Answer: A

Explanation:
Using the private modifier is the main way that an object encapsulates itself and hide data from the outside world.

NEW QUESTION 46
Given the code fragment:

int wd = 0;

String days[] = ("sun”, “"mon®, “wed"”, “sat");:
for (String s:days) |
switch (s) {
case “=sat":
case “=sun”:

wd -= 1:
break;
case “mon’
wid++;
case “wed":
wd += 2

]
System.out . println(wd) ;

What is the result?

|'_\-l>00

. Compilation fails.

Answer: A

NEW QUESTION 50

Given:

class Student |
String name;

public Student (String name) {

this.name = name;

public clas=ss Test |
public static void main(String[] args) |
Student [] =tudsnts = new Student[3]:
students[1l] = new Student (“Richard”™);
studentza[Z2] = new Student (“"Donald®™) ;
for (Studsnt = : atudents) |

System.cut.println (™" + =.name);

}

What is the result?
A. nullRichardDonald
B. RichardDonald

C. Compilation fails.

D. An ArraylndexOutOfBoundsException is thrown at runtime.
E. A NullPointerException is thrown at runtime.

Answer: E

NEW QUESTION 55
Given this class:
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public class Rectangle {
private doubls length;
private double height;
private doubkle aresa;
public woid setlength (double length) {
this.length = length;

public woid setHeight (double height) {
this.height = height;

public wvoid sethrea() {

¥

area = length*height;

'
Which two changes would encapsulate this class and ensure that the area field is always equal to length * height whenever the Rectangle class is used?

A. Call the setArea method at the end of the setHeight method.

B. Call the setArea method at the beginning of the setHeight method.
C. Call the setArea method at the end of the setLength method.

D. Call the setArea method at the beginning of the setLength method.
E. Change the setArea method to private.

F. Change the area field to public.

Answer: AE

NEW QUESTION 57
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 59
Given:

class Caller
private wvoid init ()
System.out.println (™Initialized”);

private wvoid start ()

init () ;
System.out.println(“Started”);
}
}
public class TestCall {
public static void main(Stringl[] args) {
Caller c — new Caller{);
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.

B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 60

Which two statements are true? (Choose two.)
A. Error class is unextendable.

B. Error class is extendable.
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C. Error is a RuntimeException.
D. Error is an Exception.
E. Error is a Throwable.

Answer: BC

NEW QUESTION 62
Given the code fragment:
LocalDate datel

LocalDate dateaZ
LocalDate date3d

LocalDate. nowi) ;

System.out.println("datel = " + datel);
Syztem.out.printlni("dates2 = " + datel):
System.out.println("dated = " + dated):

Assume that the system date is June 20, 2014. What is the result?

A
datel = Z014-06-20
datelZ = Z014-06-20
date3d = Z014-06-20
B

datel = 06/20/2014
date? = 2Z014-08-20
date3 = Jun 20, 2014

C  Compilation fails.

D An exception is thrown at runtime.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 67
Given the code fragment:

int numsl[] = {1, 2, 3};

int numsZ[] = {1, 2, 3, 4, 51;

nums 2 = nums 1;

for (int = : nums2){
Svstem.out.print {x + ":");

i

What is the result?

A. 1:2:3:4:5:
B. 1:2:3:
C. Compilation fails.

D. An ArrayOutOfBoundsException is thrown at runtime.

Answer: A

NEW QUESTION 68
Given:
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claszs Wehicle |
int
ehicle ()4
thig (100 ; // line nl
i
Wehicle (int =)
thi=s.x = =

}

cla=s=s Car extends vVehicle |
int ¥v;
Car () f
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thi=s.yv = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;

H
And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A.10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 72
Given the code fragment:

if {avar++ < 100 ¢

System.out.printlniavar + "™ Hello Universel™);

}oelze
System.out.printlniavar + " Helloc Worldl™);:
1

What is the result if the integer avar is 9?

A. Compilation fails.
B. 10 Hello Universe!
C. 10 Hello World!

D. 9 Hello World!

Answer: B

NEW QUESTION 77
Which three statements are true about the structure of a Java class? (Choose three.)

A. A public class must have a main method.

B. A class can have only one private constructors.

C. A method can have the same name as a field.

D. A class can have overloaded static methods.

E. The methods are mandatory components of a class.
F. The fields need not be initialized before use.

Answer: ACE

NEW QUESTION 81
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